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4. 08,003 eﬁzpag)%ojmi 83par3 eeéd)gg% 4. Which commission considered national
em%eg;jom 0375 B0 Joreasd 9 development as the most important

(A) 64-66 3 Bm0d B208 concern of education ?
- Al

(A) The Kothari Commission 64-66
(B) 1990 B toomnés =80

(B) The Ram Murti Report of 1990
(C) 1932 3 2gpen3 Shworing odnews

(C) The Basic Scheme of Education 1932
(D) o=, oopogH sanems* _ o
® (D) S. Radhakrishnan Commission

5. ROGRIT BT FIOF &R0 53

5. Identify the main principle on which the
TB0DTE B FS), MOOOBRD.

parliamentary system operates

(A) Zomzong S0iRFond BRmmos (A) Responsibility of executive to

(B) Ro0toss Raor %0 legislature
(C) syc3mons Reor (83 (B) Supremacy of parliament
(D) 0508 QuxEodd 2’6%03 (C) Supremacy of judiciary

(D) Theory of separation of power
6. ot e escﬁ%oé L0 WID, WOTE DRODT

e o3 AMF D e 3y odoees oy 6. Three or more persons express their
epmHne &2( SR, thinking and opinions on the same theme

and problem at a
(A) wmsreesy
(A) seminar

o}
(B) mosnem (B) workshop
(C) ez

(C) conference
(D) vommyz (D) symposium

7. ona 14 Rpemetants, w0008 Sons Secy 7. If August 14 falls on Monday, what day

O oI ORNAIT ? will be the first day of the next month ?
(A) Rodoms (B) 2=0 (A) Thursday (B) Friday
(C) 3ewd (D) P00 (C) Saturday (D) Sunday
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15.

16.

17.

18.

19.

7-0011

73,0306NE RoBREG[OIE), @ﬁ%&g’d F8,03003
(A) Degeo

(B) Rommord @08 S8e SREigmd

(C) dos0gR)T0

(D) evelesds Bon®

TOBRETIOI) WoTD @%r{%md @isaﬁodzf
(A) T SnEod

(B) m@ngmnzons

(C) womosngd

(D) =n0sd

W03 REFTYH S 10 B roreed) wRneeSobdR)
SERZT, B FFOIENY), VTS RNBUBITOT
ROBREPT GOIR)

(A) RRBeBT 5030

(B) w3e=e3riosonsy,

(C) es08e0 #&oeéﬂ

(D) w03nend
mdswﬂowoae#ﬁoﬁoﬁaaﬁag@ $odngsd

T R SRODT ROWOFRR), eVGaoaN
QB[O 2

(A) 1.00
() 03

(B) 0.6
(D) 10.0

NS CXRE DT SFFEO AN 9T ?
(A) &8 BgRD

(B) smoxo3ns

©) &y

(D) So3nedons

15. The process not needed in experimental

16.

17.

18.

19.

research is

(A) observation

(B) manipulation and replication
(C) controlling

(D) reference collection

One of the essential characteristics of
research is

(A) replicability
(B) generalibility
(C) usability

(D) objectively

The Government of India conducts census
after every 10 years. The method of
research used in this process is

(A) case study
(B) developmental
(C) numeration survey

(D) experimental

Which correlation coefficient value better
explains the relationship between
creativity and intelligence ?

(A) 1.00 (B) 0.6
(C) 03 (D) 10.0

Which of the following teacher will be
liked most by you ?

(A) idealist philosophy
(B) compassion
(C) discipline

(D) entertaining
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22.

23.

24,

Z7-0011

L3 3830 IORIODY| T, B ¢33
DREDAFY, 8F VB &WROITTR, 0T
BRI, 390D 353 630 230N
QS BRROT Notdedny wheractenent
ROWORRT0 WRIFRLO MGIABE, IRBF NS
8350 Greds O ?

(A) 0503w

(B) @oznods

(C) doemg

(D) 0¢03 oo oot ©Y,

DR,F IS e 8330 IS0 TBoms B0
ébmzscprﬁq} @@@odmag BT BRI 2,000
RO, Wi TR HF O30 “Red QORI
DR 88T 03RONP '@’oiraeudg 2woRPoe)”
QOTD TEYTR). T’ Bewdodno 8350 iR
SISO, ReeIRIBLS 9
(A) W, LIV &)ﬁoﬁod@t DOFEITOCIRN
EOR0T08TLIeRd

(B) 2.2, 3880 R dROH1NYR DTROFTOR
SRTOCIPNTLIBd

(C) =8I DTe0dewtINSLD Beebss doooj
HFFOO DTOSCVTHNTLIEB

(D) 888008, 209, F b 833 3O3R
Qe IORICDY LI 2, BF 030 JB
SVBORITEY DPOTITT, Ve

(A) e@oﬂag’g &80

(B) &80, sovadngen Bedderd

() e:séojaa’sgt CUSICR Y cgo:i%,n’zse&
(D) 38w, Dew,F 030, HUZORD FewhIesd

®

22. A teacher is strict in maintaining

23.

24.

discipline in class in curricular and extra
curricular activities, but there is always
room for discussion regarding clarification
of doubts in teaching, learning and
conducting other activities, what is the
approach of teacher towards students ?
(A) authoritative

(B) democratic

(C) no interest

(D) none

In a survey for finding opinions of
students on influence of teachers
behaviour towards them, one student said,
“A teacher who cannot follow rules and
regulations is of no use to anyone”. The
comment points towards which behaviour
of a teacher

(A) a teacher needs to be efficient in
content delivery

(B) ateacher needs to be a role model to
students in all aspects

(C) a teacher first needs to be obedient
before asking students to be so

(D) from teacher, students learn all
misbehaviour

If a student fails to answer a question in
your class you will

(A) punish her
(B) ask her to sit down
(C) try to prompt her

(D) ask another student to answer

2.8.8ne. /P.T.O.
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36. 3FNSZHRIY cIRFTH BOTC IReRFT Y0
DFORRORT DOLOTR BRI 9

(A) esTBeon’ ARR TR
BFIOTRCTON

(B) ®owraxe, S0ed3 Foned
BITOBRCTIN

(C) Sorzmer RoRBeed Bedrod ey,
TOWT 0’ m’a{jor{on’%?o BRTOD
a’ﬁ@c%m?ﬁ BoONTIN

(D) BRI 008 0B FRICD FedTo R
BT € R0° ﬁ%oﬁar{%;b RITOR dj'acgsr{e:)ﬁ
N elalewTatmnlat

37. 038R FEnE RonBIBY, ODBHR, TWSLD
0N IeITIFID

(A) Byt FENY SRS T,

(B) Bedeemsas =070

(C) D> B¢ IB>F V7 B0
RR30HR BorAWR 1T

(D) F2o08 O3S

38. ‘amyuiegior” 2ors
(A) 338 BOFBTOND
(B) 200 50 EROTA, FFdE =083
BOSRETOBRTD WoBNY BTRENTT
Roodpens

(C) BreTom3r @m@%éoﬁd& Qe
TORFBROND

(D) 0808 Ime* o5F, | avE TeDF RN

7-0011

36. Which of the following would indicate
that the mother board battery has failed ?

(A) Operating system passwords are lost

(B) Files on the hard disk are lost or

corrupted

(C) Hardware settings including virtual

memory revert to default values

(D) Hardware settings, including current

date and time revert to default values

37. The success in interpersonal

communication mainly depends on
(A) Proximity between two people
(B) Inducing surroundings

(C) Openness between two people to

share information

(D) Cool environment

38. ‘Edutainment’ means
(A) Educational programmes

(B) A healthy combination of
educational and entertainment

elements in a programme
(C) Entertainment-oriented programmes

(D) Programmes with move special

effects

2.8.86¢./P.T.O.



39.

40.

41.

42,

43.

Z-0011

B3~ 3R WOBNYRY, BYZeRdemN 1otd
RABROT TS

(A) 8

(B) % Berodne

(C) =o®orRowsdnsd

(D) saodne a@ndd |

TOTRBNL 00w WoQTNSIT BTG,
(A) S5 (B) Qemodn
(C) sBdne (D) eozero

RGNS uﬁ@\d&&)ﬁﬁ 20030 GV LVTHTOH
D0TT

(A) S Zpew
(B) o3n38

(C) Berodne

(D) 2ae30ned -

TOZe R oW DH) RPWRIPHTD
(A) ke

(B) a3=nednens

(C) =0

(D) esozere

Rg, B BB 0T orNY PRI
(A) ﬂm&fﬁ%fﬁg‘ LART Bryts* 303 dBSoes
(B) BHC

(C) wmpe

(D) ©dees3 evssned

39.

40.

41.

42,

43.

The best of the audio-video elements are

combined in

(A) TV

(B) Skyradio
(C) Magazines
(D) Audio CD’s

Body language is very important in
(A) Print (B) Video

(C) Audio (D) Internet

A good example for media convergence is
(A) Mobile phone

(B) Newspaper

(C) Radio

(D) CCTV

The term Fourth Estate refers to
(A) Press

(B) Cinematography

(C) Broadcasting

(D) The web

Mosquito repellent coils/mats contain
(A) Parquet

(B) BHC

(C) Toxaphene

(D) Derivatives of Allethrin



44. $ee3BENL0T Bo0WTIE 2,000 ERYRD,
FSAIZIRIR oITH Kba’% Zaears éeﬁmﬁﬁﬁd}t

45. B DRBEIOD e&%gd)md InnE

46. 30RO By REVEE T§0300D,

47. TR e DTRRIY, Nox B I

48.

7-0011

BRoOTHS ?

(A) e Qe
(B) R, foonied
(C) Bng oeDd
(D) mozgned

(A) BooOr=
(B) wu.gg)do
(C) 35 Sndoycd
(D) o
22
SUBGOIRNI SR
(A) e300
(B) 815
(C) aoegden*
(D) Zpgde

TEFFODTY, RGO

(A) Qoegies*

(B) wormed @ &8 @

(C) Jur* o8,

(D) gnsdne Fpedne TFa"

RTTT ER0S” A3peRSed0
(A) Redrmddodd drend

(B) woxzs ma)dd

(C) ww3§ dress

(D) rode 3meeimdse 0dnems

44. Tn a lake polluted with pesticides, which
one of the following will contains the
maximum amount of pesticide ?

(A) Small fish

(B) Microsized organisms
(C) Big fish

(D) Water Birds

45. One of the best means of waste disposal
is by
(A) Pyrolysis
(B) Scrubbing
(C) Incineration

(D) Interoxication

46. A gas produced by microbes during
sewage treatment is

(A) Acetylene
(B) Ethane
(C) Methane
(D) Propylene

47. At present maximum, green house
contribution to Earth's temperature is by

(A) Methane

(B) Carbon dioxide

(C) Nitrous oxide

(D) Chlorofluro carbons

48. The controversial Koel Project is
(A) a mining project

(B) thermal power plant

(C) hydel project

(D) captive plantation project

@.8.85¢ /P.T.0.
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57.

58.

59.

60.

Z2-0011

Roedd QeRTIFeZ03¢ BowOTR) BRoOBI
DN ReRe3S) OO :

TOWNT & IBRIRT
(A) &e@RD: BeAzd
(B) o@memonm @ e odeen

(C) w0y : Fegd

(D) 8k JpeyE0s

3N 330308 48 Foes )y 28 Bowss
RBY, ), 7 e 9
4727235974752479478471

(A) 5 B) 3

€ 4 (D) 2

OVER &35 QYIW 0t wdwd, STAR i)
o7} WBCIWTOT
(A) UWEV

(C) UVBS

(B) UWEW
(D) UWEX

1 23535 IT 20830 3913 QEBEONTIE TR Bewdnisd
8080 a) @20b) eow 8z Jesr cRYE. L.0d
Fedd 83 TePINYO FZTNAT, FYNT oINS
QERF oM @&rﬁmf_\ AN 9

L. ZoRSRiodn 2,00 Sdwiosnd s,
II. woese 2, ZORT
NEF O ¢
a) 3ouTF 28, SL0BEFOIY, TOROH.
b) 230 F L) ¢9BTR.
FA I S )
(A) a) SN 7O
(B) b) @ngte 50
(C) a) &3y b) ndcwEe xo
(D) a) &=y b) RYSRER FooDHY,

57.

S8.

59.

60.

Choose the pair of words which shows the
same relationship as given at the top.

Embrass : Humiliate

(A) Annoy : Exasperate
(B) Embezzle : Peculate
(C) Enquire : Ask

(D) Difficult : Painful

How many 7's are there in the following
sequence. Which are preceded by 4 but
not immediately followed by 2 ?

4727235974752479478471

(A) 5 (B) 3

<€ 4 D) 2

If OVER is coded QYIW, then STAR is
coded

(A) UWEV
(C) UVBS

(B) UWEW
(D) UWEX

Two statements I and II given below are
followed by two conclusions a) and b).
Supposing the statements are true, which
of the following conclusions can logically
follow ?

I. A senate is a wise body.
II. George is a senator.
Conclusions :

a) George is a wise person.
b) George is literate.

(A) only a) follows

(B) only b) follows

(C) both a) and b) follows

(D) neither a) nor b) follows

2.3.8%¢. /P.T.O.
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55.

56.

57.

38.

59.

60.

mpagqp m%osdqs 8 B0 WED[ESEIN

(A) 8ogwsa TIT Boeed NI BORRHT

(B) Rns= wps3od shed s BoRmd

(C) wormve3 BrEFoR) BB NS SO
(D) =663 eﬁzpag@pwo 2reed NROT BOBIYTD

AIBRT, WRE,ODT Z[FIT eama’g)a@ée@ Uaﬁ@r(@ﬁ 3B
(A) WoBTIE TroF =

(B) =03 9=

(C) =350e80e0

(D) BedT wen, wodynde B9

SesdBT HBT BRI e;azpaé@@ chs%oér{%b

(A) o, Y wEnRdY ej?pag&gpo:ba"% 2003

(B) cinzmycde as’@mmdag 2e0e) '

(@) &ooﬁéo:bcﬁi 2003

(D) o, 32y oymRLY, SRFE TORSNRYR) B SnRES

©08e3031¢ T BokPeTO

(A) B3 38 28 Ba3xio TEeIngY,
(B) ooymg cinacie smoen TEodnge)
(C) =8 ﬂsaw ammi ajcéojoagm%d

(D) eﬂzpag%om; EINOPY] m@dl acéomgm%g

o008 ToFMY TFOT REogE WeSEIriodn B3 FoTmERrRED ot Bonds
(A) =673 I3

(B) &o&Lcd ezpdom@

(C) oomseod 38

(D) 2ot Buo FewEede,

% BEBEOT FRwD TP

(A) Oon =) LR ONY S0 HITE Koo

(B) w=oed emaé@@ojoe 283 Tow0

(C) Faede FBows BeBnYR woBEmVE TrFSEo YIS0
(D) wapag@@ 303 SEIRNCBOLNGD 200836 A3

7-0011 @)



55. The major shift in development theory has been
(A) to focus on the role of technology
(B) to focus on human development
(C) to emphasize increase in investment

(D) to insist on economic development

56. It is generally believed that developing countries need
(A) transfer of capital
(B) economic growth
(C) modernisation
(D) all the above

57. The writer argues that the prevalent development theories
(A) have brought progress in Asia and Africa
(B) Have not made any impact
(C) Have brought regression
(D) Have destroyed the economies in Asia and Africa

58. Statistics show that women
(A) get a share unequal to their labour
(B) get no share in them
(C) get a very small share

(D) get an equal share in the benefits of development

59. The United Nations believes that only sustainable development can lead to
(A) economic growth
(B) women’s development
(C) political strength
(D) a strong democracy

60. The major argument in the passage is that
(A) gender and development are closely related
(B) economic growth is the only solution
(C) Third world economies need transfer of capital

(D) Development and modernisation are the same

7-0011 @
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